ol 581 g el i i ¢ Ay e g ¢ guS Aay )

4,4x12+3-52,5-4,1)=

1 1
S x20+5-2(=—2,4)=
4 (4 3)

2 )
—X6+2+5(-+ )=
5 (373

45,1 -3,6)=2x5+4,4=

Aagull NGBS

W

3
—+3.3)x2+
(4 9)

3
25(5,8+3) +5%4+3,9 =

1
5 %9+3+2(3,8-2,9) =

3,3-3(4,2-2,8)=

1
5.3-5(;+5.3) =

www.snowmath.com



https://www.snowmath.com

ol 581 g el i i ¢ Ay e g ¢ guS Aay )

z
sl ZEN NS
1 6 I 3 3177 17
—+2(=+2)= — = 5- —+3.3)x2+—-=—=8—
372375753 (3+3:372% 7= 55 = 8%
28 3 3 1499 9
4,4%12+3-502,5—4,1)= —= =252 2558+ 2)+5x4+3,9= -~ = 149
9 (’ 7) 5 5 (’ 2) 9 10 10
I I 533 I 33
S X20+5-2(=—2,4)= 2 =5 S x9+3+423,8-2,9)= 22 =3
R R A TR Ty 5 X 9F325,872.9) = 15 7 39
2 3 20 113 _8 9
2 62450+ )= 75 ~3(4.2-2.8)= (——
5X6 5(5 3) s 715 3,334, ,8) = ( 10)
97 2 I 661 1
A5.1-3.6)+2x5+4,4= 0 =192 S 4+5.3) = (- = (-2
(5.1-3,6)+2x5+44 =2 =195 53-5(z+53)=(20)=(25)

www.snowmath.com



https://www.snowmath.com

